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HINDI / f&=h

1. godleE o & 5. i # @ ‘9’ =2 w1 waigarh wfi §
A) TR WG *
(A) P A
(B) ‘GEris®’ *
C) ‘arda ¥ (B) Fw
(D) ‘famufi’ & (©) afes
: D) ™
2. ‘N fre =y o 3w {7 ©}
(A) I T
(B) ST e 6. a3 & wod B §
(C) Tt fe '
(A) 13-11
(D) ghmmA=a
(B) 11-13
3. f=fafes & @ g2 = =1 93 fifm
: (© 13-13
(A) qRem
D) 15-15
(B) wfsst ()
() "=
(D) tl’ﬁ&:ﬂ ‘ - , : 7. ¢mmwmﬁ,wm%
4. ‘o T wwwit (A) - SRR o R
@ . (B) FAEH=A b B
(B) 3w " |
(C) - WeE =t
(€ = RN e .
o fm (D) e e
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8. ‘3-3 M @ e 2
(A) RA-Ta wEw G FA
(B)bm@ﬁm
(©) Tt wm =1 =t 7 B

(D) oA B

o, ‘T ¥ AW B
(A) e
(B) wHur™
© fy

(D) &=

10. ‘wdv T @ @yt R
(A) FH + T
(B) R + ¥R
(€) *+ ¥

D) Ff + §=%

11. g e’ % e HATW R
(a) WB’@{ "
(B) sfpma= TSl
(C) G I

(D) < FRIGE Wl
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12. ‘GOFS THR el % I O U R
(A) SFER
(B) FEr
(C) ¥
(D) wrR

13. o 7 ‘thae’ 6t waaTs d
(A) e
(B) e
) dia

(D) i

14, “fiqt 9 aiE 79 S’ § AAHR 3
(A) W
(B) ¥
(C) &

(D) &

15. <Rt T@ %1 e e @
(A) TR
(B) ®d
© =

(D) Wi




ENGLISH / 3

16. Mr. Verma is senior —- me. 19. The correct alphabetical order of the
words—ample, abode, anxiety, appetite
(A) than ’S ,
(A) abode, ample, appetite, anxiety
(B) then
(B) abode, anxiety, ample, appetite
(C) to (C) abode, ample, anxiety, appetite
D) of (D} abode, appetite, ample, anxiety
20. Find out the odd one from the
following :
pen, chair, bottle, ink
17. Divide these sweets -—— all the
students. (A) pen
(B} chair
(A) between
(C) bottle
(B) among (D) ink
() on 21. The opposite of ‘include’ is
(D) upon (A) exclude
(B) outclude
(C) misclude
18. My brother is —— SDO. (D) disclude
(A) a S 22. —— is the silent letter in %knee’.
A) k
(B) an
(B) n
(C) the
(C) ee
(D) None of the above - (D) e
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23. The feminine gender of ‘tiger’ is . 27. The noun form of ‘great’ is

(A) she-tiger (A) great
(B) tigress (B) greatness
(C) tigery (C) greatful
(D) tigeress "~ (D) greatless
24. The plural of ‘child’ is 28. ‘To smell a rat’ means
(A) childreds (A) to detect bad smell
(B) children {B) to misunderstand
(C) childs (C) to suspect a trick
(D} childran (D} to see clear meaning
25. Animals that can live both on land and 29. “I like sweets.” The correct negative
water are sentence is
(A) ambiguous (A) 1 does not like sweets
' (B) amphibian (B} I do not like sweets
(C) amorphous (C) I not like sweets
(D) ambivalent ‘ (D) I like not sweets
26. The rhyming word of ‘shine’ is : 30. The past participle of know’ is
(A) noon (A) - knew
(B) dark (B) known
(C) nine / | (C) knowing
(D) nose (D) knowed

SOEM/14-A _ 6



. 31. Which of the following is not an air

32.

33.

ENVIRONMENT / w3faror

pollutant?
(A) CO,
(B) SO,
(C) NHj;

(D) O,

The unit of measuring air pressure is
(A) millimetre

(B) milligram

(C) millibar

(D) centimetre

The fertilizer that supplies least
percent of nitrogen is

(A) urea
(B) (NH,4),SO0,
(C) NH4NO;,

(D) organic nitrogen fertilizer
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31. fmafaRea & @ F-w1 Iy vgve T8 27

A) CO,

(B) SO,

(C) NHj3

(D) O,

32. 91 T WG A TEE R

(A) frefirfie
B) freftum
() Prefemr

(D) =i

33. 9w Rl w0 sfowa & Mgdom o S R,

?

(A) T

(B) (NH,),SO,
(C) NH,NO,

(D) YR RIS JaE
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34. The leader of ‘Chipko Movement’ is

35.

36.

37.

(A) Sunder Lal Bahuguna
(B) Mother Teresa
(C) Mahatma Gandhi

(D) Indira Gandhi

‘World Environment Day’ is celebrated
on

(A) 1st June
(B) 5th June
(C) 1st July

(D) 15th July

The primary consumer is
(A) deer

(B} fox

(C) snake

(D) lion

Most animals in ‘ciry desert’ are
(A} active at night

(B) active during day

(C) active all time

(D) active during summer
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34, ‘Fywh sew’ &/ /A d

35.

36.

37.

(A) e sgom
(B) Te Hwn
(C) werem Tieh

(D) =T it

“forva wartaer fesw’ T s @
(A) 1@ =

(B) 53F
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38. Which of the followirig diseases is

39.

40.

41.

caus‘ed by polluted water?
(A) Malaria

(B) Diabetes

{C) Jaundice

(D) Blood cancer

The earth is a —‘ef our galaxy.
(A) star

(B) galaxy itself

(C} subplanet |

(D) planet |

The main source of saltwater is

(A) ocean
(B) well
(C) river
(D) All of the above

. I T
The climate of equatorial region is

(A} very cold
(B) very hot
(C} humid

(D) hot and humid |
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(A) wfEn
(B) WYAE

(C) difern
(D) T HW

39, gt Tl eTETEETT F TH — T

(A) @
(B) @R STHIFET
(C) 3SWIR

(D) u®

40. TV S 1 TYE AA

(A) &g

(B

(C) &

(D) g wft

41, wwoRdE e AR g

(A) =g 39
(B) g ™
C) =

(D) ™ 7 3
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42,

43.

-

The heaviest animal of the earth is
{A) camel

(B) elephant

(C) fish

(D) blue whale

Lead (Pb) causes
(A) soil pollution
(B) air pollution
(C) radioactive pollution

(D) None of the above

Acid rain contains
(A) SO, and NO,
(B) NO4
(€) O3

(D) CO

45. The major pollution-causing agent is

{A) animal
(B) man
(C} hydrogen gas

(D) None of the above-

SOEM/14-A
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42. geit 1 ge® AR} 5g R
(A) 3
(B) wl
(C) waeht

(D) reh &

43. W€ (Pb) % wRY gl 3
() S SR
(B) aF T
(C) AearfRa squm
(D) 9w & & #g

44, 3 ot # uf@ A 2/F
(&) SO, W NO,
(B) NO,
€) O3

(D) Cco

45, Y@ YU A1 AT wew R
(A) g
(B) #g=
(C) T
(D) e & @ w e



46.

47.

48.

49.

50.

GENERAL KNOWLEDGE / W= §H

Which animal is called ‘ship of desert™?
(A) Giraffe
(B) Camel
(C) Lion

(D} Cat

Rusting in iron is an example of
(A) physical change
(B) chemical change
(C) gaseous change

(D)} natural change

Kanha Kisli National Park is situated in

‘the district of

(A)

(B)
(€

Sagar
Mandla
Bhopal

(D) Seoni

Which State is known as ‘bowl of rice’?
(A) Jharkhand
(B) Chhattisgarh
(C) Kerala

(D) Uttarakhand

For prevention of which disease, BCG
vaccine is given?

(A) Hepatitis
(B)
(€

(D)

Cholera
B

Tetanus

SOEM/14-A
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46.

47.

48,

49,

50.

fora wroft &t ‘e 1 e T ST 87
(a) s

B I=

c) fos

(D) fogh

I 3 i e e e 1 sare 27
(A) hfaes afEd

(B) Tamafyes aftadA

(C) Ny ufada

(D) e R

e fraeh e sam few R 3 R 37
(A) WR

(B) ween

(C) sivdrt

(D) Reaht

‘a1 HA | TS Y v S R7
(A) HrEvE

B) BHwTT

(C) ¥«

(D) IWRATE

o dio fto w1 A
o ST 87 -
(A) TR

(B) ¥

(€) Fodfo

(D) 2@
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51.

52.

53.

54.

55.

The only hill station in Madhya Pradesh
is

(A) Pachmarhi
(B) Uijain
(C} Dewas

(D) Indore

The age decided for voting is

(A) 14 years |
(B) 18 years
(C) 21 years

(D) 25 years

‘Children’s Day’ is celebrated on
{A) 14th November

(B} 2nd October

(C) 25th December

(D) 5th June

Jabalpur city is situated on the bank of
which river?

(A) Narmada

{(B) Ganga

{C) Dhasan

(D) Betwa

The Kharif crops are haifvésted in
(A) October-November

(B) March-April

(C) June-July

(D) May-June

SOEM/14-A
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51. Y7 YU W AT e RyA F-41 37
(&) =
(B) =M
(C) Zam
(D) =K

52. mamfteeR % forg fuifa oy @
14 a8
(B) 18 =¥

A)

() 21
(D) 25 %

53. ‘a1 feaw’ wa wwn e 27
(A)
(B) 2 IRE

(C) 25 Ramr

(D) S~

14 Jaw=R

54, Saag R fFu 7@ F Hm s 27
(A)
(B) ™m
(C) wEm
(D) ST

55. T Fue H werd A 3
(A) TR &
(B) w31« #
(C) -y #
(D) - #



56.

57.

. 88,

59.

60.

SOEM/14-A

In which game, the term ‘googly’ is
used?

(A} Hockey
(B) Tennis
(C) Cricket
(D) Golf

The capital of Kerala is

(A} Thiruvananthapuram

~ (B) Itanagar -

(C) Imphal
(D} Mumbai

The Golden Temple is situated at

(A) Patiala

(B) Ludhiana

(C) Amritsar

(D) Chandigarh

In which city, the Tatya Tope Samadhi
is situated?

(A) Gwalior
(B} Jhansi
(C) Uijjain

(D) Shivpuri

Which State does not touch the border

of Madhya Pradesh? :
{A) Maharashtra
(B) Chhattisgarh
(C) Uttarakhand

(D} Uttar Pradesh
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57.

58.

59.

60.

e e § T’ W 1 S g 27
(a) TR
®) Fw
(C) frke
(D) 7eH

S N Ty RO R?
(A) foearage

(B) AW

(C)

(D) =%

ol AfR wEl R 7

(A) gfeaTem

(B) @

(C) Imgaw

(D) ¥R

e 2% 6wy R e A R 7
o) |

(B) wid

© =

(D) REgd
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(A) wETTE

B) swTg

(C) 3IwEve

(D) IW TR
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SCIENCE / fagm

61. The pathogen of AIDS is‘
(A) HIV
(B) ribovirus
(C) rabies virus
(D) adenovirus
62. An object is placed at the focus of a
convex lens. Then the image of that
object will be formed
(A} at infinite
(B) at2F
(C) between 2F and infinite
(D)} None of the above
63. Which gas dissolves in water and forms
carbonic acid?
(A) Sulphur dioxide
(B} Nitric oxide
(C) Copper oxide

(D) Carbon dioxide

64. The purity of milk is measured by
(A) barometer
(B) lactometer
(C) thermometer

(D) Fathometer

SOEM/14-A
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61.

62.

- 63.

AIDS I T &

(A) HIV

(B) UgsarR™

(©) W« s

(D) T

9@ AW & wiew W W g w1 s i
Y

(A) I W

(B) 2F® |

(C) 2F 9 3F=a & o=

(D) 3T & & 13 T

W e owm A gEwm wEibE o
T 27 |

(A) TEH TRATES

B) TR s

(C) I TS

(D) e STFNTHATES

64. 3 Ya ardt et R

(A) e g
(B) MR R
() wffi g
(D) ¥ g




65. The source of renewable energy is
(A) coal
(B) wind
{C) petrol

(D) kerosene

66. The main gas in LPG is
(A) hydrogen
(B) butane

(C) oxygen

(D} methane

67. In which part of atmosphere, the ozone

layer is found?

(A) Troposphere

(B) Stratosphere

{C} Mesosphere

(D) Exosphere

" 68. India launched her first arﬁﬁcial
satellite in space on

(A) 16th April, 1975

(B) 1%th April, 1957
(C) 19th April, 1975

(D) None of the abave.

SOEM/14-A
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65. Uiy el W Hid @
(A) SiEe
B) T
(C) W=
(D) Tt =1 dw

'LPG & T 9. areft 9w | @
(a) TS

(B) A

(C) AladtsH

(D) wem

67. NS Wa AgHvSA & hg v & uis et 27
(A) ShmveH
(B) UHATYHUSH

(C) TTmvSA

(D) wTeHvEd

68. WRA 4 3U UTEN FOAW IWE Jak& [

AT o

(A) 16 and, 1975 ®
(B) 17 ¥¥d, 1957 & -
(C) 19 314, ,1975 |
(D) v & & et
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71.

72,

69. Barometer is discovered by

(A) Galileo
(B) Pascal
(C} Albert Einstein

(D) Newton

70. The name of microorganism,

which malaria is caused, is
(A) fungus

(B) plasmodium

(C) -virus

(D) diatom

The effect of air pollution is
(A) depletion of ozone layer
(B} greenhouse effect

(C) acid rain

(D) All of the above

The value of one light-year is
(A) 9-4608 x 10'° m
(B) 94608 x 10'* m
(C) 94608 x 10'3 m

(D) 9-4608 x 10!2 m

BOEM /14-A
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69. Nnfict Fit @ Hi oft
(A) rehfern 3
(B) Uk 4
(C) Teed IMErE A

(D) A

70. wRRE F1 PR YT §
(A) aH
(B) TSHifEAH
(C) ar

(D) S1EH

71. 1Y YV T ANE §
(A) 3TSIH Wd FI TE™
(B) wee T
(C) o i
(D) 3T Wt

72. U TFU-99 F AE R

(A) 9-4608 x 10! Hix

(B) 9-4608 x 10'* Hix
(C) 9-4608 x 10'3 Hiw

(D) 9-4608 x 10'2 T




73. The speciality of plant celt is 73. TRy Hf¥reRr i fadwar @

(A) cell wall : (A) wif¥mm ffy
(B) chlorophyll (B) wRacE®
(C) large vacuole | () =& fiferem
(D) All of the above (D) 3w adt
74. The unicellular organism is 74. R AT}
(A) amoeba @A) snfa
(B) earthworm (B) g
(C) elephant (€) weft
(D) monkey (D) &=
_ 75. The formula of calcium carbonate is 75. Hfewm ke o §
@) Na,CO; , (A) Na,CO,
(B) 2nCl, (B) ZnCl,
(C) CaCOy - (C) CaCO,4
(D) CaSO, (D) CasSO,
76. Which of the following is omnivorous? 76. Frfifa § A ) gatend §7
(A) Human | (A) wg=
(B) Cow (B) ™=
(C) Rabbit | | (C) Tww
(D) Lion (D) W
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77. Earthquake is measured-on
(A) barometer
(B) seismograph
(C) endoscope

(D) stethoscope

78. The number of isotopes of hydrogen is
A) 1
B) 2
) 3

(D) 4

79.' In ecosystem, plants are called
(A) consumer
(B} producer
(C) decomposer

{D) parasite

80. The stars twinkle
(A) due to reflection
{(B) due to refraction
(C) due to spectrum

(D} due to total internal reflection

SOEM/14-A
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77. VR 1 A foR ST @
(A) ¥R |
(B) T &
(C) Terwhm &
(D) Werehiy @

78. TESISH % GEEATFER! il T R
@) 1
B) 2
© 3

(D) 4

79. Wit § 9 Fgem §
(A) STHHT
(B) 3wEH
(C) 3TERH

(D) weht

80. @R fmfen &
(A) TTEE F HROT
(B)- mﬁq%m
(C) TUIHH & HRU

(D) Ui oTrafte wEda & HRo
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MATHEMATICS / 7t

81. The formula of circumference of a circle 81. WA MU TG
is
(A) 2nr
(A) 2nr
(B) nr
(B) nr
(C) nr?
©) nr?
(D) 2nr?
(D) 2nr? |

- 82. vl w1 =1 gdta ee = @ AR @R
82. What will be the surface area of a cube & 7 Yo o 87 '
if its edge is 7 cm?

.(A) 243 =it Fo Hio
_ (A) 243 cm?

~ (B) 294 @i @o o
(B) 294 cm?

(C) 343 =i ®o o
(C) 343 cm?

(D) None of the above (D) 37E® & @ ®E T
. 83. The square root of 9801 is 83. 9801 I Fifw ¢
(a) 99 A) 99
B) 89 B 8
() 98 () 98
D) 91

(D) 91

: : 84. IR U T F G 3375 ¥ Vo Ho &, @
84. If the volume of a cube is 3375 cm3, Nl : '

then the length of its side will be gy A A
(A) 15 cm | (A) 15 @o Ho
(B) 13 cm : (B) 13 o Hflo
(©) 17 cm : (C) 17 o Hio
(D) 21 cm | (D) 21 ®o o
SOEM/14-A . 23 ' [P.T.O.




85.

86.

87.

If 3x+2=11, then the value of x is
(A) 3

(B) 4

(C) 5

(D) 6

If principal is ¥ 8,000, rate 5%, time
2 years, what will be thér simple
interest?

(A) ¥ 500

(B) ¥ 800

(C) & 1,000

(D) € 1,200

The angle of semicircle will be

(A) 90°

(B) 180°

{Cy 270°

(D) 360°

The price of 3 cjozen oranges is ¥ 27.
What will be the cost of 5 dozen
oranges?

A) €9

B) ¥ 18

(c) ¥ 27

(D) €45

3OEM/14-A

24

'85. AR 3x+2=117, A x F a7 §
a) 3
(B) 4
€ 5

D) 6

86. ¢ 8,000 F 5% H WA 2 a§ H GHEW

= B

(A) € 500
(B) € 800
(C) ¥ 1,000

(D) € 1,200

87. 1EIA I U AN
(A) 90°
(B) 180°
(C) 270°
(D) 360°
88. 3 T I F A T 27 1 5 T T A
A /g e .
(a) €9
(B) €18
(C) €27

(D) ¥ 45



89,

90.

91.

- 92,

SOEM/14-A

The factors of x? - 64 are
(A) (x+8) and (x +8)
(B) (x-8 and (x-8)
(C) (x+8 and (x-8§)

(D) None of the above

Tfle smallest two-digit prime number is
(A) 10
B) 11
(C) 13

Dy 17

’i‘he supplementary angle:of 110° is
(A) 90°
B) 70°
(C) 20°

(D) 80°

The value of [O- 3]3 is
(A) 27

(B) 027

(C) 0027

(D) 0:0027

25

89. x2 - 64 % TGS §
(A) (x+8 3ﬁ'( (x+8
(B) (x-8 3 (x-8
(C) (x+8 3R (x-8

D) s A AT

90. ¥ 3! I YA B I T B
@A) 10
B) 11
© 13

(D) 17

- 91. 110° T YOF I ?

(A) 90°
(B) 70°
(C) 20°

(D) 80°

92. [0-33 HAA R

e

Aa) 27

(B) 027
(C) 0027

(D) 0-0027

{ P.T.O.




|93,

94.

95.

| 96.

In a right-angled triangle, the two sides
are 6 cm and 8 cm. Then its hypotenuse
is

(A) 12 cm
B) 11 cm
(C) 15 cm
(D) 10 cm
In the given figure, AABC is an

equilateral triangle, centre of the circle
is O and ZBAC=60° :

Z£BOC will be
(A) 60°
(B) 120°
(C) 90°
(D) 45°

The sum of angles of a triangle is
(A)y 90°

(B} 180°

(C) 270°

(D) 360°

Which of the following numbers is not a
perfect cube?

(A) 1331

(B) 729

(C) 64

(D) 243

HOEM/14-A

93.

94,

95.

960

% g st it @ el 6 Ao Hio qw
8 Vo o &, ot 3uh wl H HA 2

(A) 12 o Hto

(B) 11 Fo o

(C) 15 ®o o
(D) 10 o o

g my i & A ABC w wwEg By R, W
FHEOR AWM LBAC=60° % :

B & e ot A @ B
(&) 90°

(B) 180°

(€ 270°

(D) 360°

ftfaa & A H-ah g qof o e 27
(A) 1331

(B) 729

(C) 64

(D) 243




97.

98,

99,

100.

In a circle if radius i‘skdgﬁbled, then its
area will be

{A) half
(B) two times
(C} four times

(D) None of the abo§e

The square root of 16:81 will be
A) 52
(B) 16
(C) 49

(D) 41

What will be the value of x°?
Aa) 1

(B)
(€

(D)

Subtract 8 from
5 5

A) 1

B) -5

(C) 5

D) -1

SOEM/14-A
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9?;>~mﬁﬁﬁﬁﬁwammﬁmm,

98.

99.

lm.

@ I FAHA M
(A) 3

(B) TN

(€ =RTH

(D) Iugw ¥ ¥ A T

1681 H TS gM

' (A) 52

(B) 16
) 49

(D) 41

x0 1 A F1 e
@) 1

B) -1

(©) i1

(D) 10
3 8
-s-ﬁfigmlll

@A) 1
B) -5
©€) 5

(D) -1

[ P.T.O.
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INSTRUCTIONS REGARDING METHOD OF ANSWERING QUESTIONS

T % I 3w R

(Please use Black Ballpoint Pen)

. Method of Marking Answers :

To answer a question, please darken
only one circle out of the given four, in
the OMR Answer-Sheet against that
question.

Valuation Procedure :

There are four alternative answers to a
question, only one of them is correct.
One mark will be awarded for each
correct answer. If more than one circle
are darkened for a question, it will be
presumed that the candidate does not
know the correct answer, hence, no
mark shall be awarded.

Cancellation or Change in Answer :

It will not be possible to change the
marked circle with Black Ballpoint Pen.
Therefore, correct answer should be
carefully chosen before marking 1t on the
OMR Answer-Sheet.

Handing over of Answer-Sheet to
Invigilator :

(i) Please ensure ‘that all entries in the

Answer-Sheet -are filled up -properly, .

i.e., Name, Roll No., Signature,
Question Booklet No., etc., before
handing over to the Invigilator.

(i) CANDIDATES ARE ‘PERMITTED TO
CARRY AWAY THE QUESTION

BOOKLET 'WITH THEM AFTER THE

EXAMINATION.

Care in Handling the Answer-Sheet :
While using Answer-Sheet, adequate
care should be taken. Do :not tear or
spoil the Answer-Sheet by foldmg .ar
wrinkling.

(FUET TR ATA-TATEE AT T WA )
IW 33 T AT :

TR A % g 3o o AWe IW-ux #

gt g9 ¥ g Ry o ar Mt # |
FaA TH TS H T HaA1 B

e agh :

T U ¥ AR IHAE IW §, I 4 Faw

TF IR G ¥ I w1 qd IW ik F@ @
TF 3% T Ehm | Ak T @ S e s
frr S €, @ 9E @ Smon R aheredi @
WA 1 G S AW T ¥ IR W A o
Tt fow wwiE

IW F R FHET T GG

IWM ag T P +3 & g o=

qA-EEe W/ W N M F Fem AR

TEET W A€ M ST 3o Wo 3o

AU # I BT WAl WAk Y e I A

T QrAHIgEe &t

I-u g w GiaAr :

() heE B IN-9F G F gz ghfda
WA R F dA g8 | o
it dW—am, @ T, TR,
yH-gfea F Fa e Puifa ©m
R Sp-F W MY E

(i) wftgn & IWwa chend W wwE-

yfRm R ww @ W @ agER

2
I~ & I9AT  qrEurt :

TR H AT B W @ W war

| 3w, ME W TeEe TS ¥ W A
FIE
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